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Note — Unless otherwise required in a question, answers should be written in Sanskrit or in Hindi or
in English; but the same medium should be used throughout the paper.
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1. afy dfees Tt 04 -29°- 267~ 27", SO 97 00— 00- 10 &= AW $w 2 SFrE TR 077~ 24

& A Ee W F oA Bt
Calculate the true longitude of Saturn. if Satura (pankiistha) is 04 <29°- 26'- 27" clana
00 —09- 10 (plus) and direct Saturn’s daily motion is 07°- 24~

T (Or)
o, R TS 01 -23°- 437 20%, A G 00- 10- 07 1 AR A B 3 T 33 58

& & TY8 WES F T R ‘
Calculate the true longitude of. Mars, if Mars (pafktistha) is 01 -23°- 43'- 20", cilana

00 —10- 07 (plus) and direct Mars’s daily motion is 33°- 58" 8
2. i wTe R g 04 - 19°- 00'- 197, AGT 23°— 57°- 41", T S 06 T 27 95 aWn
ST, TRl & g W 279, 299, 322, 322, 299, 279, 279, 299, 322, 322,299 @

279 &), B ©TE FRA Z2IW E T BRI
Calculate the nirayana tenth ascendant if true longitude of Sun (nirayana) is 04 - 19°-00'- 19",
ayanathia 23°- 57" - 41", plirva natakala 06 ghatis and 27 palas. lahkodayam3na of twelve zodiac signs
(starting from Aries) are 279. 299. 322. 322, 299, 279, 279, 209, 322, 322. 299 and 279

7@t (Or)

qR AF FT S AR IR, T 14 TR 19 9 FIH 64 T 32 0 2 @ T Ty

FI R R |
Caltulate the true longitude of Moon If birth asterism of a native is Visakhd, bhayata is
14 ghatis & 19 palas and bhabhoga is 64 ghatis & 32 palas. 8

3. e AR Iragredt R SR B EIE F g, Preisia e A aakugEaeE 3
IR N A= e Afoagues H1 fmin Hr

Discuss the difference between Janma-chart and Calita-chart and also prepare both the
charts observing the following planet position and sasandhidviidaSabhava.
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IuRfesRa cqomeam & & S &) Bl 3) 781 & SIcd HOaEgEA S !
Based on the above mentioned spastagraha-chart. calculate the average age of the native, 8
given by any two planets. .
|
4, TIHITd IEN g fore ol F & el o A e FifAg
Explain any one of the following vérse choosing your own example
(i) T FEEAT FFI TIORARATEA
Tered A waRraREieA B4 e
(i) ARG T F) 10
5, EIHieUn IRV BRI AT § 3%a0 O e ifaa |
Choosing your own example discuss Hargabala in t3jikaSastra.
. Y (On)
i
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Now the Lord is decided in varsa-kundali, discuss it with proper illustration.
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6. Frafsfan 3 & Rl TR o i fooafirat fffam, R & oF sega d &

Write shott potes on any four of the following, out of whtch one qhou[d be in Sanskrit
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(i) ¥
Bhadra
(i) T
Declination
(iii) IgIHM
Jdavamana
(iv) T 20

Yopini Dasa
(v) TS B

‘Tatkalika-maitri

(Vi) ToUETS A
itthasala yoga

(3)
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